Scotch College 020820

Medium | 2.1km

f———30m ——%A 30 m to start

D Start:

1 (140 o~ l. Foot of stairway

2 (104 [ | . SE outside corer of building

3 127 [ | - SW inside corner of building
4 (135 A O- E side of lone tree

5 136 = !l;l:dinside comer of flower

6 (124 / — E end of stone wall

7 1120|— A O NE side of E lone tree

8 [121 | —i|  |Eendof fence

9 (122 A @) W side of lone tree
101139 / _. 3!2 ltl)utside corner of stone
11{112 = k Foot of stairway
12{115 © W edge of flower bed
13110 D) NW edge of flower bed
14134 / l. Foot of stone wall
15(113 [ | F NW inside corner of building
16117, | —i|  |Eendof fence
17(107 ‘,p" N SE end of hedge
18108 G| | NEedge of flower bed
19(118 [ | l_ SW inside comer of building
20132 | L] e e comere”
21133 / A O- E side of NE lone tree
22126 Im g‘r‘g’;”“ide corner of paved
23[138 [ | . SE outside comer of building
24105 / J_ S end of stone wall
25102 | . [ |Footof stone wal
26(123 H ) NE outside corner of building
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Navigate 150 m to finish




